SOLUTIONS EXCLUSIVELY ON UNNATI EDUCATIONS

This Question Paper Booklet contains 48 printed pages.

39 TA-UF Q&R & i 48 gfgd g8 2

Roll No. Codt?oNo. 67 ITU

— Cack|
BUSINESS STUDIES Set /¥e

Day and Date of Examination
(uliem o1 feq 9 fems)
Signature of Invigilators 1.

(Frierni & BETER)

General Instructions :

1. Candidate must write his/her Roll Number on the f the Question Paper.

2. Please check the Question Paper to verify th tal pages and total number of questions
contained in the Question Paper are the sam th printed on the top of the first page. Also
check to see that the questions are in sg i

3. Making any identification mark in the
specified places will lead to disquali t b

4. Write your Question Paper Code Set [A] on the Answer-Book.

5. (a) The Question Paper is in i edium only. However, if you wish, you can answer in

Gujarati, Konka nipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
i the language you have chosen to answer in the box provided in the

(b) the answer in the language other than Hindi and English, the responsibility
in understanding the questions will be yours only.
TTAT=T TG -
1. wdliemeff T8 T 31T STIsRATR 3Tavd ford|
2. I TE- j foh T -3 o ot IBT qe WA 6l 3a & T @ Tt werd U8 % ded S ot 7| 39 §1d 6 i
=7 F §

W IH-TF HT B Fo 67/TUS/2, T [a] for@|

-7 hae Tt/ § B fR oft, afe sma = @ = & e fopet weh s & IR g weRd # -

Hefdl, Tepa i o)

F9T IR-YfErht # fou o st # forg o6 sy fopm v & s forw @ 2

(@) afe 3y fa<dt wa 37h & srfafen foreft 3= o & S fored 2, 1 wet 6t wwe | B areft et /et it fer
ShaeT 3T Bl

319/TUS/111A IR ce-r.o.

9899436384, 9654-279-279



SOLUTIONS EXCLUSIVELY ON UNNATI EDUCATIONS

| Important Instructions |

1. This Question Paper Booklet contains two Question Papers—one b
on revised study material marked as New SyLLaBus and the othe
on pre-revised study material marked as OLp SyLLABUS.

2. New SvLLaBuUSs is for those candidates who have registered fi

(Stream-I; Block-I) admission and are appearing in April 2024 E nations.

3. OLp SyLLABUS is for those candidates who had register, e 2023-2024

(Stream~I; Block—I) admission.

4. Candidates are to answer only one Questio er from the given two
Question Papers.
5. Candidates are not allowed to mix@ from the given two

Question Papers.

> _ush welifea FieEe | wWosnaiiE § e

1. 38 T- Y& | Q
’ TINEA ¥ g9 I1RE qmft W oeTyTia 7 fE

QU 991 qiGAhH
9 gaAr
2. A=
goT &

qadn

& 1T 8 fSehT T8 2023-2024 (-1 saie-1) 4
2024 qheT § 937 o1 @ 81

37 glenfefal & fore 8 e AT 2023-2024 (SH-I; &Tih-1)
T 3

fou MU Y- F A HadA TH YH-F T F W o
gfieneff 1 S YH-w % Tl bl e S e 1 srEfa T8 R
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NEW

This Question Paper consists of 51 questions.
™ YE-9F % I 51 Y & 6
BUSINESS STUDIES
RIS AT
(319)
Time : 3 Hours | [ M s : 100
o o 3 "W | ‘Q‘[W:IOO

Note : (i) This question paper consists of 51 questions
(i) Al questions are compulsory.

(iii) Marks are given against each questio

(iv) Section-A consists of Question Ng@s. 1 O—Multiple Choice-type
Questions (MCQs) carrying I r ch.’ Select and write the most
appropriate option out of the ons given in each of these
questions. An internal choi een provided in some of these
questions. You have to a one of the given choices in such
questions.

(v) Section-B consists
carrying 2 marks
questions as per t

Nos. 21 to 35—Objective-type Questions
sub-parts of I mark each). Attempt these
ctions given for each of the questions.

(vi) Section-C c

ists o
(@) Questi 36 to 41—Very Short Answer-type Questions carrying
2 each’to be answered in the range of 30 to 50 words.

Quest Nos. 42 to 47—Short Answer-type Questions carrying
arks¥each to be answered in the range of 50 to 80 words.
(c) n Nos. 48 to 51—Long Answer-type Questions carrying

arks each to be answered in the range of 80 to 120 words.
-1 # A 51 T Bl
T A 2

1

i) USI% T % b I°b " fer M )

WUE-31 H WA @ 1 ¥ 20 T Sgehedd W (MCQs) 7, T y@e we
1 3% H1 gl IA% YA § feu MU 9w faskedt § A wed I0YE foeheu w1 W W
3N fo@) @ @ oo gl § sndies foeheq fean men R) smushl W@ gw # few o
foehedi § © hadl Th T g I o Bl

(b)

319/TUS/111A 3 IR ce-r.o.
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(v) Wue-a § Y H& 21 ¥ 35 % g8 WA &, T Y% W 2 36 H @
(1 37 % 2 IU-WFT % TA)| JIb W4 & fore feu mu fdon & sgar = ww i &
ER

(vi) @ug-a ¥ wfiet ® -

(a) I TET 36 ¥ 41, 2 IF » Afd-oHwE TH F, FH IW 30

4 o Rl
(b) T T 42 § 47, 3 IH & dg@d g 7, Ak
4 e Rl
() T T 48 T 51, 5 3% & cH-IHT TH 7, 120 &gt
4 ¢ Rl
((1) Answers of all questions are to be given in the k given to you. A

ouff gl % I MUl € TS I-gfEas H & ford)

(2) 15 minutes time has been allotted to read thi
paper will be distributed at 2:15 p.m. F
students will read the question paper onl
the Answer-Book during this period.

3 H-99 hl Ued & faw 15 fime
2:15 &5 fpar S@m Quet 2:15

n paper. The question
.m. to 2:30 p.m., the

to 20 are MCQs of I mark each. Internal choices
h r necessary :

T 81 TAh Y 1 3T T 8| &l IaWh 8, dieh

wareness about health care has led to an increase in the
alth care products and services in the country.” Identify the
siness environment being described in the above case. 1
(B) Uncertainty

(D) Interrelatedness

@V o H9Y § TG g3 SATTehdl § oF § TR @A i aEgIl Td Harsi
# A A g 7 217 S Rufa °§ et vt i o famwar ==t b
T R, 3§ TgEIy)

(A) Tferefier (B) SAHfeaaar
(C) dfeat (D) A<:H=Y
319/TUS/111A 4 R
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2. The full form of WTO is
(A) World Traders Organization (B) World Trade Organization

(C) World Travelers Organization (D) World Tour Organization
5o dlo 3o w1 0T ¥ B
(A) fava smifer &1 mea (B) fava =mum @ed
(C) fava =mht @wred (D) fova amn @eA
3. refers to the process of instructing, guiding, counsélli otivating
and leading people in the organization to achieve thei jectives. 1
(A) Planning (B) Organizing
(C) Staffing (D) Di

e & 3wl h! W o fau =afeai <l HH, WHI e,

SREfE F qu1 g B B T H

NBRERISE]
ag and maintaining a satisfactory and

(©) FafwwoT
(B) Organizing
\ (D) Directing
I ITH A, TTHT ITANT HiH Td 3= 41C W@ & FqEied

is concerned with ge
satisfied workforce.

(A) Planning
(C) Staffing

_ UqE ud

2l

(A) (B) A

(C (D) Fdee

the following documents is not used in external trade? 1
dent (B) Letter of credit
Purchase order (D) Bill of lading

Afied & & 59 Yo 1 TM 9@ RUR H A@ R Sman 89

(A) e (B) ®rE@-w

(C) Fa e (D) =i gee
319/TUS/111A 5 IR AR ¢ .r-o.
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Or / 3741

The letter issued by the importer’s bank in favour of the exporter which
enable the exporter to get immediate payment is called

(A) letter of hypothecation (B) letter of credit

&

(C) letter of advice (D) demand draft

HARTaeh dh gl faiaess & 9 § SiH-a1 o S fee Sian 7, foew
WAE 9= A gt 22
(A) 3EEgs ™
(C) HTE-TA

5. A company can raise capital through the prima in which of the

following forms?
(A) Equity shares ( Preference shares

(C) Debentures of the above

Tsh HEH! TATHR STSR % HIe W ®7 § Yt whiad o Hehdt 27
(A) Hwar 3 (B) YAt 3791
(C) =wor (D) 3T =
Or / 3FYdr
The capital struc \n organization refers to the choice of which of the
following?
(A) Dividead and lth (B) Debt and equity
(C) Fixed nd current assets (D) Fixed capital and working
capital
gSit gfen ffiiRed & @ feaeh =99 i 3fgfaa s 87
g g (B) KU T THAT

Rl afEmfEt va 9 et (D) =mrft ISt wa wEEfe goft

Maximum number of members in a private company is

(A) 50 (B) 100
(C) 150 (D) 200 1
319/TUS/111A 6 R
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=t et § gew i Stfean we Bl 8

(A) S0 (B) 100
(C) 150 (D) 200 6

7. “Sanjay has decided to earn a profit of 30% in the current financial y

Identify the type of plan being described in the above lines. 1

(A) Method (B) Objective
(C) Strategy (D) Program \

“gog 3 =] fodflw a¥ d 30% @ i we @ fol fem”

I Uik A =fd FSET % YHR hl qg=EY|
A) fafa

(C) Torifa
Or
Which of the following statement d to the importance of planning?
(A) It reduces risk and u g (B) It leads to efficiency in
operations.

(C) It delays in actions.

frefeifaa semt o FHUF RIS & g O dafyd T8 37

I A HT 2 (B) ¥E UGS i HREHICAT hl 3T
o ST B

(D) =g frola o9 & gigen weH X 2|

(D) Itfacilitates decision making.

(C)

outh Skill Day is celebrated on
h July (B) 15th March

15th October (D) 15th December 1
Tova ga1 wive fega’ wARm S 2
(A) 15 e (B) 15w =i
(C) 15 3TagaR ol (D) 15 feomr =t
319/TUS/111A 7 NIRRT 2o,
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9. Identify the correct sequence of steps in the process of formation of a
company.

I. Promotion stage

II. Capital subscription stage

&

III. Commencement of business stage

IV. Incorporation stage

(A) I, II, 11, IV B) I, Iv, III, I O
C) 1v, I, 11, II (D) 1v, 1, I, 1I \
IO hT TATTAT T UThAT % =N h WG HH I TEATHT

I Yadd JrEe
. oS ifem afeen
I, SR =R shi IEATT hl el 0

V. fmea steen
(A) L 10, I, IV I, Iv, 11, 1I

(C) IV, 1, II, III (D) IV, II, 1, III

Which of the following pla essed in financial terms?

(B) Rule

(A) Strategy

(C) Policy (D) Budget
frafaflga @ i fodfta &9 § =ae fopam Siam 27
(A) Torifd B) frm

(€) (D) w9

i areholders are called

10.

ners of the company (B) partners of the company

executives of the company (D) creditors of the company 1
Ul MU HeEed &
(A) SO % @t (B) I % HTEER
(C) wrt & iRt (D) HEH F TR
319/TUS/111A 8 RV
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SOLUTIONS EXCLUSIVELY ON UNNATI EDUCATIONS

11. There are two statements marked as Assertion (A) and Reason (R). Read the
statements and choose the appropriate option from the options given

below :

Assertion (A) : B2C enables a business firm to be in touch with its
customers round the clock.

Reason (R) : As in B2C, there are business firms at one end

customers on the other end.

(A) (A) is correct but (R) is wrong o

(B) Both (A) and (R) are correct but (R) is not the correct \on of (A)
(C) Both (A) and (R) are correct but (R) is the corr anation of (A)
g fopam T 2| e W

-ﬁammawmw

(D) Both (A) and (R) are incorrect

T8l q HUA feu Y €, ﬁ%aﬁﬁm(A)w
ufgd 3t feu v faswedi & & Iugh foepey

AR (A) . 249 (B2C)
T g ST 8|

HI (R) . &oHt (B2C) ®
(A) () W& 2 9feT (R)
(B)a:ﬁ(A)aﬁI(R) ), (A) 1 TE =men @ o2
() a:ﬁ(A) (R) () H wE = 2

(D) H ( (R
Or / 3Yal
llowing is not a limitation of E-commerce?

of adequate Internet (B) Delivery and payment
astructure related issues

Ww%aﬁxa@iwmwm|

Shortened transaction time (D) Absence of cyber laws

ﬁﬂ%@ﬁﬁﬁaﬁqﬁéaﬂnﬁaﬁaﬁm?@%?

(A) TATH e ' i il (B) et wd YW weefi gHemd
(C) oFeH & @9d § HHt (D) WS HEE hl IR
319/TUS/111A o [NV 0.
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12.

13.

Short-term and temporary incentives to purchase or induce trials of new
goods refers to

(A) advertising (B) publicity

(C) sales promotion (D) direct marketing 6
#aﬁﬁﬁ@ﬁﬁmﬁwﬁﬁﬁ%uﬁmgwlm%ammWﬂe

A) fosmm @ (B) YR &

(C) fosha vada @ (D) Y& faqm=

Contracting out some of its activities to a third

’!1 was earlier
performed by the organization is
(A) BPO erce

(C) outsourcing nkmg

e g1 Ugel fsarfed s ST arelt o GhEpsti &1 qdE 9@ i S W T I @
(A) SEETRS fhaT SRR B) 3-smd
(C) STEraashT (D) $-Sfeh

r / Ul

Which among &Jox is not a characteristic of business risk?

(A) Loss is t d for risk-bearing.

are due to uncertainties.
is essential component of every business.

of risk depends mainly upon the nature and size of business.

T ¥ wa-t e Sifen f faewar 78 27

fen I3 1 TTidiftes =l R

(B) ATeETRih SiRgdl 1 wror ffFedar 3|

(C) SRem II% =Ha@™ 1 Th AEWH Geh 2

(D) Sifgm 6 wH1 U&7 €9 ¥ U™ hH Thid T6 AHK | R B

(B) Busi
(€)

319/TUS/111A 10 AT
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14. National Small Industries Corporation Ltd. (NSIC) was set up in the year

(A) 1950 (B) 1955
(C) 1951 (D) 1956 6
TEE oy 3TN HaneE fafies (NSIC) i €T &1 a9 8
(A) 1950 (B) 1955
(C) 1951 (D) 1956 o
15. Which function of management helps in minimizing errors? 1

(A) Planning (B) Organizj \
(C) Directing (D) Controlling

Y T HH-AT HE JfeA Bl HH B H TR 87
NBRERIEE (

(©) frdm

Authority and responsibility re
which of the following functi

ips among job positions is defined in
gement?

(A) Planning (B) Organizing

(C) Staffing (D) Directing

ffaRgd § 9 we: \ﬁﬁwﬁ@ﬁ%waﬁw@aﬁw%éﬁa
Wl R ?

(A)

(B) A

(C) (D) freem

16. nt company, the share of the Central Government in paid-up

ust be at least
% (B) 49%

51% D) 75% 1
T TR HET I Fehdl ISt H kg FHR 1 Iad W BT @
(A) 30% (B) 49%
(C) 51% D) 75%

319/TUS/111A 11 ] e
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17. The ability of a firm to convert an asset to cash is called

(A) liquidity (B) solvency

(C) return (D) marketability 6
% g AT GREURET Sl Tehe H UNafdd i hi &HAT el B
(A) AT (B) SNUETHAT

(C) = (D) ferduarar

Or / 37¥ar
X Ltd. earned a profit of ¥ 15 crores. Out of this, the any\decided to
retain ¥ 10 crores for business expansion and growth, this ion relates to

(A) investment decision (B) fin cision

(C) working capital decision

X Ltd. 9 33 T 15 HUS & Afd e A
foru wfqurfa @ =1 ol fomm @8 El

A) Faw ol @ forflm fola @
o (D) e forE @

(C) R dsit fola &
re of the Departmental Store? 1

(D, vi decision

2 =™ & fowR 9 g *

18. Which of the following is
(B) Wide range of products

(A) 24x7 shoppin
(C) Large size (D) Located at a central place
frfafad & 8 SH-S0% Her' i fomwar & =27

(A) 24x7 (B) 3cdel i faeqa sp@en
(D) *=F =H ® e g

19. orm of NSE is
tional Securities Exchange (B) National Stock Exchange

Nominal Securities Exchange (D) Net Sales Earning 1

THo THo o (NSE) &1 U &4 amsu|

(A) A RS T (B) Mo Wieh THEeS
(C) +ifime fawnfifes wemew (D) e Hew
319/TUS/111A 12 [TV
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20. The ‘King of the Market’ is
(A) producer (B) consumer
(C) retailer (D) wholesaler

‘TNIR T TS 3
(A) 3AEH (B) 3UMITHI
(C) et forshar (D) @ farshan

Or / 37¥ar

Paid form of non-personal presentation and promotion of

is called

(A) publicity (B) salesm&
(C) advertising (D) sa otion

;rvices

FEGIT 3 AT F TATROT 9 Jadd & g fSreep forw sy fepan
T 8, wEAM 8

(A) S=ER

(C) fosma= (D) faspa wada

—B

—a
Note : Question Numbe
wherever nece

vg) 35igiven below. Internal choices have been given
few ;. = uw wen 5 fou U &| ST ft 3tevEes 7, A fasheu feu e g -

21. Fill in the : 1x2=2
reférs to the official powers and position required to carry out

refers to the obligation on the part of the subordinates to whom
sponsibility and authority are granted.

Wﬂ'ﬁ'q:

(®) _____ w1 "ag et ®@ & w5 U yem H 6 i vkt @ e
q 2l

@) &1 guy AT & qficd ¥ B f92 hdew wa rfuer gem foen e 2

319/TUS/111A 13 IR ce-r.o.
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Or / 3741

(b) refers to systematic efforts to delegate authority at all le
management.

Fill in the blanks : 1x2=
(a) refers to the process of entrustment of a part of work or
responsibility and authority to subordinates. e

& M 9w
(F) o1 Hay efiaeAi B w6 T 9 A nwerd g
q 2l

(@) T GEY YEY & T T W T §9 4

afe S
22. Match the type of preference shares giv in umn—I with their
respective meaning given in Column—II : 6 2

Column—I olumn—II

(a) Convertible preference (i) Ha
shares

t to share the profit after
ment of dividend at a pre-
o% ed rate to equity shares.

es which can be converted into
uity shares after a specified period of

ce (iii) When the amount of preference shares is
refundable only at the time of liquidation.

(b) Non-cumulative pre-
ference shares

(c)

Participating
shares

(d) Irredeemable (iv) The preference shares on which the
feren S dividend is not accumulated if it is not
paid.
(c) (d)
(i) (iv)
). (b) (¢ (d)
@ (v) ([ (i)
(@) (b) (c) (d)
(i) (@) (iv) (i)
(D) (@) (b) (¢ (d)
() (@ @) ()
319/TUS/111A 14 A
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HieH—I § feu mu qaffuser 3o % gR @1 e wiam—I1 # feu MU e ot @
Hifre

HicTH—I HicH—II
(a) UG- QiR 37 () 3% TEaT AW W qd Fulf@ @ & o
% S A T U o T ARBR B
(b) SRR gaifesr 37 (@ J 3 37N g, 2 v fafvaa smafy
F § ufEfda feam S gehan
(c) vl qaffesprl 37 (iii) < qATfRR 3T
% g & wfaea anfi

% YA
(d) STNEE qEifoert W (iv) 3 AR 3, e T8 feam mn
8, d 98 ¥ f
(A) (a) (b) (o) (d)
@ @ (i) (iv)
(B) (@) (b) (o) (d) 0
@ (5 () (@ :
(D) (a) (b) (o) &
(iv) (i) (i)
23. Fill in the bl 1x2=2

@ (iv) ([ (i)

(€ (@) (b) (o (d)

(a) The arket instrument which is payable on demand and its
ur od varies between one day to a fortnight is .

(b t

erm instrument issued by commercial banks and special

al institutions which are freely transferable from one party to
angther is

T -

(%) HgT IR H1 Jorg, e s 7T W ¢F 8 3R gHeh! uferdr safy e feq
H 3 WHIE 06 ¢, H

(@) Tk it Toig, S d1uTieh bl g0 e fafyre foxft deami g frifaa foe
Sd # 3R S Tk UM W g Ud Wl WdAdqEs e € 2l

319/TUS/111A 15 IR ce-r.o.
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Or / 3741

Write True or False of the following statements :

1x
(a) Capital market may be defined as a market dealing in short-term
medium-term funds.
t

(b) Financial market may be defined as a transaction mechanis
investors and the borrowers through which transfer

facilitated. \

frefafaa som & a1 o, fafaw .

(%) Uit TR I TH TH SR 6 €9 § R feRam S T g
HEIehITeTh SIS 1 -7 BT 2
(@) foxfig s 1 fases 9wt & 999 9T & g T gty feeam
Tehal 8 I foeia i % gedaor § gl |
24. Give one word for the following st 1x2=2

(a) It involves estimating the equirement of an organization.

(b) The process of syste
aspects of a job.

frefafga swui & T :
(%) 398 TS % Itk SATETIhdl I FIEH AT Ffgd B

(@) HE-wst 37 % U =raferm &9 8 g1 T & 6 fha|
Or / 37¥ari

lecting information relating to all

for the following statements : 1x2=2

Give W
ocess of finding and attracting suitable applicants for
oyment.
li

e process of choosing the most suitable person from amongst the
ist of interested candidates.

frfafiga swei & fou w s &S
(%) UM & foTU gk 3TACeh] I Ged T ThNd i <l Wfshan|
(@) 3oge AR 6l g 4 ¥ 999 3IuYH Ak & gAE hl JishaAT|

319/TUS/111A 16 AT
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25. Fill in the blanks : 1x2=2

(a) refers to buying goods from the manufacturers or wholesalers
and selling the same to the final consumers.

(b) refers to buying goods in large quantities from producerse "’

manufacturers for sale to other traders.

o wm v .

() H1 ey FHTaE HAuEr o fasharsti @ a&gsni Wl 9«%‘:
IR 1 foshg & & 2 x

(W) wéﬁaw@mﬁnﬁaﬁﬁa@wﬁ?&w I A
forsharati sl =9 @ 2

26. Give one word for the following : Q‘ 1x2=2
1

(a¢) The campaign launched by the Goye f India for connecting
rural areas with high speed Intern
literacy

(b) The programme that aims i e existing Indian talent base,

vity and improve digital
creating additional em opportunities and empowering
secondary and tertiarySec

frafafaa & fou s wse
(EB)WWI'{‘;{IT[

EATTS

AR, e 3=mia arfior &s o o9 T <6
e & el &1 W@ @

word for the following : 1x2=2

implified policies to attract foreign capital and technology to India

Integrating the economy of a country with the world economy

fFrafafaa & fow w weg e -
(%) fogsht doft 9 i o1 WRA H 3epfd T & fou oeefieha Hifoat
(@) 9 h Fegaer i fova Fdeyewen ¥ gaf"d &

319/TUS/111A 17 IR ce-r.o.
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27. From the following, identify the major components of working capital : 1x2=2
(a) Supplies, temporary or short-term investments
(b) Customer deposits and deferred revenue, pay roll taxes withhold fro 6

employees
frefefiad & & SRS G F T TR W RN 1“::’»

(%) 3gfd, Imemrh srerer oo faw

(@) UTEh ST qU ARYRE ST, FHATE % Uk 7Y U-
Or / 37¥ar

: v 1x2=2
i&pital structure of the

€
t

Identify the following types of leverage

(a) This refers to the amount of deb
business firm.

(b) 1t is the ratio of fixed cost to ble ¢ost.
RS F THR Hl TEATHT
(%) THHT HEY ATTHNID i w0 H TR " R
(@) 98 TRt @ ¥ U 7

28. From the fo }nify import trade, export trade and entrepot
trade : 1x2=2
(@) W, enw of a country sells goods to the firm of another country
(b firm of a country import goods for the purpose of exporting

same to the firms of some other countries with or without making
change
feflgd & @ 3mma, fafa 9 qa-fEfa SR @ sgert

(%) J9 TH N HI FH g oW A wH H aggd =A@

(@) J& U <IN T B S P A ITH GG Hieh AT gigaq fop fomm fepeft
TE oW I HH H G kI ¥ A ?

319/TUS/111A 18 AT
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29. Identify manufacturing/service small enterprises from the following
statements : 1x2=2

(a) The enterprises having investment in plant and machinery excluding 6

investments in land and building between ¥ 25 lakh and ¥ 5 cror.

(b) The enterprises having investment in plant and machinery exc

investments in land and building between ¥ 10 lakh and
frefafaa wemt @ foioft/dar @g 3=l @1 g

(%) td Izmi, o gt vg wed & from % sifafed e @ 25 &g
g T5 HUS & o9 B

(@)@wﬁ,ﬁq%%{&rqémﬁﬁém%aﬁﬁ?ﬁm T few T 10 @@
¥ T2 HIS % o4 gl
30. Give one word for the following state 1x2=2

() The component of marketin
distribution.

at relates to channels of

(b) The component of mar,
consumers.

frafefaa st & e :
Eﬁ)f%rcrmﬁw feept gay faaquor @remt @ 2)

(@) fomom ﬁawéﬁaw&ﬂwaﬁaﬁaﬂwaqnﬁﬁaﬁﬁ%l

Or / HYal

hich persuades and influences the

rd for the following : 1x2=2

s meant for personal consumption by the households

oods meant for use as inputs in production

ffafga & fou s weg 4T -
(%) ufER g =fmTa 399 &g STEwe e

(@) 3dTed § o o1l How & &9 ° 3avds 9mH

319/TUS/111A 19 IR ce-r.o.
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31. Identify the type of private company being referred to in the following
statements : 1x2=2

(a¢) A company whose turnover as per its last Profit and Loss Account
does not exceed ¥ 2 crores.

(b) The company having relaxation from preparing cash flow stat
holding annual general meeting, etc.

frfaftga ot § saw sl wEEY % YR @ ggeErT o
() T e, fEd Bt okl 9E% fwe av-att @@ % 41!..pzaﬁ@‘ﬁ
e & R

(@) T TH w8 g a8 foeor duR v 9

afe ¥ we fueh & R 0

32. Identify the following and write ‘ES’ q share and ‘D’ for debenture :
1x2=2

o NI

(a) These holders get assure irrespective of profit.

(b) It is suitable for th nts to take risk for higher return.

fafafga =1 gg=T T * fou ES’ 9 wmoma & fow D’ fafau
(%) T gEH Bl forerdt 8, =R @ & = A
(@) I8 2, S Afyes ot o1 Siflew IS =TEd 2

. W forms of the following : 1x2=2
C
SDM

% qof wu fafew
(%) To THo o Hio

(@) TWo THo Slo THo

319/TUS/111A 20 AT
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Or / 341

Write the full forms of the following : 1%
(a) NSDA

(b) SSC
frfrfiad % oo = faRaT

(%) o Wo o To \o
(@) THo THo o &

34. Correct the following sentences :

1x2=2

(a) Zero-stage distribution channel exists e is an indirect sale

of goods by producer to customers

(b) In one-stage channel of distrib ere are two middlemen used

namely, wholesaler and retai

ion,

31T IUMITRT 1 I WIAH § Fwqi

(@) TH-TH | S HEX B &, e 919 8 ek feshat 3T Beaht fashar|

35. Identify t ethod{6f price fixation : 1x2=2

he prices of shirts that he manufactures at 15% higher

(%) Hren 5 wHfisl &1 IaTET AT 8 IR God AN ¥ 15% e fAifa@ s
2l
(@) THUTS, Th B feshar, " # W gfg B9 W A %1 qed §@l < 2|

319/TUS/111A 21 IR ce-r.o.
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SECTION—C
Eus—H
Note : Question Numbers 36 to 51 given below. Internal choices have been gi
wherever necessary :
few . 9 w9 TE 36 1 51 feu wu 2| SET ot StEvaes g, A faeed fou o g
36. “It is common now to see CD-ROM’s, computerized informati and

es of

Internet/World Wide Web multimedia pages highlighti \4
en hlighted

products.” Name the components of the business envi
by this statement.

Also name the two other components of no mic environment
affecting business. 2
“IS HoSto-TH, HFeelihd a1 fheh 3R 3 9 Heerdifear W Tt
3G % TN HI G §Y IS GWH HHURT | AR FTaEol o 54
ql T YT ST TR 7, 3 A
FH™ I IATIA HH a1 & I IH ol §arEg
37. State any two benefits of 2
w6 foru ufyemor & +1 3IZW@ Hifo|
Or / 37¥ar
Name the pro rough which the new employees are introduced to the
organization. Why i8)it significant? State.
39 sk , o mem @ qu sHETE o wEn ¥ yifa e S
’ 27 3g@ Hiful
38. iate between ‘advertising and sales promotion’ on the basis of—
jectives;
nature. 2

‘foqmo’ 9 ‘fossw gada’ @ fafafga smamd w save hifso .
(%) IH
(@) spfa

319/TUS/111A 22 AT
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39. State any four objectives of World Trade Organization. 2
Tava =MR @Med (WTO)' & Tl wm 39 &1 3g@ shifsw)
Or / 37947 6
State any four points highlighting the role of World Trade Organiz
e =R e H YHeRT W THR Se a1 bl AR a3l
40. Give the meaning of durable and non-durable goods. \ 2
fepre’ qun W-fepre’ axgati &1 31 i)
Or / 3Ydr
Give the meaning of tangible and intangibl od
o’ qUr ‘Id’ agst w1 e v
41. Name the outsourcing services expertise of a higher order
knowledge work. Why is this ing done? State. 2
3 STEEIdRE G & A ) fiu st I wE H fomwmar f
JETIHA B 2l T8 ' ST 87 3g@ i)
42. Name the functién of agement that harmonizes group efforts so as to
achieve the g the organization. State any two points of significance
of this funetion. 3
T o 38 TATRY, S TE h TAEl H AESE TG AT @ dqlMh e
%é fop S weh| 38 R & HEW & (bl @ fogal w1 3g@ S
< a’ form of retailing wherein two parties enter into an agreement in
one party authorizes others to sell or produce specified goods and
ices.”
(a) Identify the form of large-scale retail business.
(b) Identify the two parties involved in the business identified in (a) above.
(c) Give an example of such business. 3
319/TUS/111A 23 ] e
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“¥E PeH AR H1 TH VAT T &, T o1 vl 4 g wEEid % <mid Uh e, GEL U
w1 fooy aege 3t darsh w1 g=d SF¥ar 3Ianfed % forw stfuka war 217

(%) &2 TN F PR AR & 39 &I H TgAIHC| 6
(@) 9 (F) ¥ 989 T FgEE H Gffeld & uell Wl YgeEru|
() 3H YhR & FaHE 1 Tsh 3CEW0 |
Or / cH \o
JG Transport Company is providing the service of se/&ods from one

part of the country to another. At the time of boo the goods, a receipt
is issued by JG Transport Company.

(a) Name the receipt which is issued at t
the company.

e of booking of goods by

(b) List the information covered in th C

Fo Mo IitaeT Hrft TEgel T F
B O 6 gieT & wHE Fo Sfio g Uk e S < Sl R

(%) HFT G A T gRRT H W arel Wie w1 AE gd€y
(@) 38 Wie § & I aret T o= =mmsuy

44. Differentiate &Xed capital’ and ‘working capital’ on the basis
of—
nv

fits. 3
0 wd wriEfe §Sf # frafafaa snad Wt il

(%) Y

(@) 3mafy

()

wmi # wEeT Se

(@) mea

(b

319/TUS/111A 24 AT
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Or / HYal

Explain the following as determinants of working capital :

(a) Nature of business
(b) The manufacturing cycle

(c) Promotional and formative phase

Frrfan @1 wEie A % Fefe % 0§ i\O

(%) =HeE™ I Tl
(@) 39T =sh
() IRfTH T Jadd TEaEAT

45. Sukesh is working in a textile i t e is the Human Resource
en for the company. After
ence required for various jobs

Manager and has to recruit
determining the qualification
involved, he is in search candidates. For this purpose, he
decided to use various so f utside the organization. Explain any
three such sources.
g 9 MG GO YEES 2| I HEA H ¢ 10
%W%WW&WWHW%T%{W
[ B @9 @ 8l 39 3e¥d O 394 Teq § STl & fafya wrai
| W fordl i @l s "wssy

Or / 37¥ar

gohsl Th HUSN I
forspaepatatt i wdf
% 91g 98 39T,
EdlRERIL £l

Human Resource Manager of BP Ltd., an electronics
s received a number of applications for the post of Production
. From amongst the various applications, he has to choose only

dentify the process which Mukesh would use to choose the most
itable candidate. Explain the first two steps of the process identified.

opdT, Stotfofaifie o AHa HETEA Yoruh 81 38 ST SoraeiHad Ol | 3caTesh Ya-de
% UG % [TC g ATeGT WTH g &1 3 fafte ofecHi § ¥ 38 had Th &l & g 2
39 UfshaT ! UgETiT, fSreht SRINT Shieh ohY TE8 39 IHICAR 1 - Tl | TgaT
TS UfshaT o TUH S TRON I THEY|

319/TUS/111A 25 IR ce-r.o.
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46. Suraj has completed diploma in Sales and Marketing from a reputed
institute. He now wants to take up a job as a salesman. Guide him by

stating any three qualities that he must possess to become a good
salesman. 6

T A U gfafsd geam ¥ fasea wa faqum @1 fewmn qu fomen 21 319 98
&1 TR HET TAEA 8| Th 30 fasRashdl & dF O 1 IgE@ A gY, SN IHH
B MG, 381 HUIGIH <HIfY|

47. State any two formalities to be completed by clearing i ernal
trade. 3
el AR § freprelt stfirrat gra ol s ST areft fohg gt 1 3g@ Hifeu|

Or / 3FYdr
Give the meaning of the following docum u in external trade :
(@) Indent
(b) Letter of credit
TR SR H W fefafad s -
(%) ¥
(@) "g@g-ua

48. Differentiate be n te Limited’ and ‘Public Limited’ company on any
five bases as provisions of the Companies Act, 2013. )
HET 3fe 13 % yagHl % 3R, ‘foft fafiee’ a ‘aesftre fdfiee’ st
H [ quter 3R I

Or / 3FYdar
efitiate between ‘public enterprise’ and ‘private enterprise’ on any five
g 9 Tt e’ # fopedl o emami W s il
49. Explain the steps in the process of controlling. S

fe=o-vfshan < =ROT Sl HHETST|

319/TUS/111A 26 AT
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50. Suresh is a broker in a stock exchange. His son, Rahul, a student of
class XII is now-a-days studying the chapter of ‘stock exchange’ as a part
of his business studies syllabus. He asks various questions regarding the
functions of stock exchange from his father. Before explaining the
functions of stock exchange, Rahul’s father first describes the meanin
stock exchange as per the Securities Contract (Regulation) Act.

(a) Give the meaning of ‘stock exchange’ as per the Act explain
Rahul’s father.

(b) Explain any two functions of stock exchange.

T IR TER § Th AT | TR I g, S foh haqr XII
S SITH UISThH o Ueh W & &9 § I SR I
¥ IR TR % HET ¥ TEUT B I IBdl Bl gl ﬁwanw
% HE gueE ¥ ued ufafa ey (fafemm) sifufrem IR TR HT 7

A
‘:U% TR 1 31 i)
|

(%) AUET % IR T & fua
tor’s interests, the Securities and

(@) WM SR & fohdl & HET Bl

Exchange Board of Indi s initiated many primary market
reforms like improved tandards in public issue documents,
introduction of prudential and simplification of issue procedures,

etc.”
&y market reforms initiated by the SEBI except

VE.

“As part of its efforts to pr

Explain five ot
those discus

“frareri % & o SR % UH W % w9 H AR gt wa fafem 9 (@)
YR o Sgd § HEIHA FRA U €, SO Fresieh e serdh
Ao, foeehyul AMGEl o1 TEqdiRl td e wrifafa 1 et

Ui & Afafes el (SEBI) g1 Wufies IR § 3Ry e MU uter 3=

Give the meaning of ‘self-employment’. State any four characteristics of
self-employment. 5

WU 1 37d dfvu| @i f fedl um foRivarst o1 sg@ Shifsm)

* ok ok
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OLD

This Question Paper consists of 51 questions.
3 YE-UA % IFA=d 51 T Bl 6
100

BUSINESS STUDIES
AT AT
(319)
Time : 3 Hours | [ M S :
T 3 " | ‘Z‘[Tﬁ‘m:mo

Note : (i) This question paper consists of 51 questions
(i) Al questions are compulsory.

(iii) Marks are given against each questio

(iv) Section-A consists of Question Ng@s. 1 O—Multiple Choice-type
Questions (MCQs) carrying I T ch.’ Select and write the most
appropriate option out of the ons given in each of these
questions. An internal choi een provided in some of these
questions. You have to a one of the given choices in such
questions.

(v) Section-B consists
carrying 2 marks
questions as per t

Nos. 21 to 35—Objective-type Questions
sub-parts of I mark each). Attempt these
ctions given for each of the questions.

(vij Section-C c

ists o
(a) Questi 36 to 41—Very Short Answer-type Questions carrying
2 each’to be answered in the range of 30 to 50 words.

(b) Quest Nos. 42 to 47—Short Answer-type Questions carrying
arks%each to be answered in the range of 50 to 80 words.
(c) n Nos. 48 to 51—Long Answer-type Questions carrying

arks each to be answered in the range of 80 to 120 words.
-0 § %A 51 W I
o et 2|

1

i) UI% T % I IEh @ fer mu

WUE- § Y @ 1 ¥ 20 T sgakedd WA (MCQs) 8, N TR WA
1 3% #1 3l IS YA § feu U =R fowedl § @ we® IuYh foeheu &1 =AW
3R for@| 398 @ $B WAl ° Taies fashed feam w21 omushl U@ Al § fou
foshedi § @ e TH T & I oA B

319/TUS/111A 28 AT
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(v) @ue-a ¥ Y9 T&1 21 ¥ 35 d% a8 YHR & T 7, {98 Y T 2 37
2 (1 3% % 2 IU-uF % )| IAF Y F forw feu mu o & IgER 7 g
% IW <

(vi) @ug-| ¥ wfiat ® -
() I TET 36 ¥ 41, 2 IF & G- TH F, FH IW 30

4o Rl
(b) T T 42 ¥ 47, 3 IH & dgAd YA 7, Sk
4 e Rl
(c) T TN 48 ¥ 51, 5 3% & CH-Iq0T I 7, 120 wisgi
4 o Rl
(1) Answers of all questions are to be given in the k given to you. A

aff woAl % I IR § TE IH-YfEah § & forg|

(2) 15 minutes time has been allotted to read thi n paper. The question
paper will be distributed at 2:15 p.m. F .m. to 2:30 p.m., the
students will read the question paper onl d will not write any answer on

the Answer-Book during this period.
TH YI-U4 Wl Ued % fou 15 fime T gl Y- 1 foadwor dugl |
T BT had YIT-UF I Tell 3K

2:15 & feram S@m| Quet 2:15
Tai foram)

Note : Question Nu 1& 20 are MCQs of 1 mark each. Internal choices
have been erever necessary :

feo - w=H T B Tk Y 1 3k I g| V&l AW 7, Aih

o

1. following is the last stage in the on-line transaction process? 1
ayment (B) Order
a After sale service (D) Search

S-S oHeT iR # f=fiafea o o eR- s smeen 27

(A) TaH (B) 3ew
(C) fosha wwere, Hem (D) @
319/TUS/111A 29 [N NE TR e.r.0.
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2. Which of the following is the part of legal environment of business? 1
(A) Economic policies (B) Provisions of the Constitution
(C) Judicial decisions (D) Both (B) and (C) 6
faffaa 3 @ #F-1 =EEw & fafus w@feEw & v 2?
(A) 3t ifaat (B) @iagm & yau™

(C) =l for (D) QI (B) @m (C)

Or / 37ydar \\
Which of the following is not a part of non—econ&nvi ment of
business?
(A) Social environment (B) Pol ironment
(C) Legal environment ( co ic system

frfafad & ¥ FH-91 =@EE & R-anie T R?
(A) TSI TRITeRoT orifees gateRon
(C) faferss wafarm

{“;:') ) R Someh
1 o) Ltd. X Ltd. is a

(B) subsidiary company
(D) Both (B) and (C) 1

3. X Ltd. holds 60% share
(A) holding compan
(C) government

g fafies, % 60% 37 USft w1 9w 2| TR ffies B,

INBREREED (B) 8™ HrH!
(D) @i (B) @ (C)

©)

4. m of PPP is
lic-Public Partnership (B) Private-Private Partnership
Private-Public Partnership (D) Public-Private Partnership 1
o dto fo &1 i w7
(A) ufeter-dfersr TR (B) Wsde-WTgae TTERRM
(C) YTgae-ufecetsh UG (D) ufesteh-uTgae urd-Ri™
319/TUS/111A 30 AT
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Or / HYal

Which of the following is not an example of a departmental undertaking?
(A) Railways (B) All India Radio 6

(C) Food Corporation of India (D) Doordarshan

frafafga 4 @ - fourfe Supr =1 e =& 27

(A) & (B) mg%mh\z\o

(C) wurdr @ famm (D) L&A

5. To arrange disbursement of unemployment allowance to spegific categories
of jobseekers is the function of which of the fol

(A) Placement agencies
(C) Employment exchanges
et  ToE g R = F A A
T ¥ foroe w0 27

(A) R foa aTeft Te

(C) TR HrETe™ (D) BFI (A) auT (B)

ut job vacancies are also telecasted

6. Sometimes informations
through \
(A) (B)

employm s leaflets
(C) televi (D) Internet 1
Fft- fowar o gaamsti o yERer o wem | ot R S @)
(B)
(D) st

Or / 37¥ar

Which of the following undertakes career counselling and vocational
guidance with a view to effectively guiding the jobseekers?

(A) Employment exchange (B) Placement agencies
(C) Employment news (D) Mobile phone
319/TUS/111A 31 ] e
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frafafed & @ wF-w1 Sfifger & fou derg 3R Al 6 qare & arer i SwTe
TG AT 27

(A) TSR T (B) Tgfmrentor worht
(C) UHTR HHER (D) HETEA BH
7. Management consultants specialize in the placement of executives a €
(A) top-level (B) middle-level o
N

B &l

(C) lower-level (D) both top-lev

level 1

&Y JHEIEIaT Y6 HRHRT AfeepiEr h FRRe

(A) IF-w (B) #
(C) T-wlix (D) i qT A -Fq

8. When applying for a job, the biodata accompanied with an
appropriate letter. 1

(A) opening closing
(C) covering ) Both (A) and (B)
Se TeRet UG W foTq 3fTeed —gAId % WA EAH RERCEE]
fepam ST 2
(B) 3=

(D) =M (A) T (B)
Or / 37¥ai

(A) M
(C) = ‘\

o if during an interview for employment insulting or

(B) Lose your control

(D) Do not get angry and lose
control

¥ U TR % HY STUHESHS YAl GRS I 9@ I 7, 9 31

HAT?
(A) TEET BT (B) 39T Freor @R
(C) T B W e T8 @R (D) TeET & s dur e @
R

319/TUS/111A 32 AT
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9. A plan laying down the what, how, who and when of accomplishing a

10.

specific job is called

(A) programme (B) policy
(C) budget (D) procedure 9
gg IieAn, S foret fafdre Rl 1 qU W % @, hH, HH qu1 He H A
(A) S B) Hf o
(C) e (D) wEfafy \
Or / e &
The plan that determines how the different activities of theéjprocedure are

completed is called

(A) programme li

(C) rule meéthod

g ASHT, S HRIfE H qU S H &1 Faftor st 8, sea @
(A) ™ Hifa

(C) Trm (D) fafw

refers to the offici tablished pattern of relationships among
departments, divisions a duals to achieve the well-defined goals
and a consciously igned cture of roles. 1
(A) Planning (B) Organizing
(C) Formal o tion (D) Informal organization

w1 q T, SUfIWTT, SH=miEl 3mfe & = o= &9 ¥ wfud
EERT Y ¥ § GRATNG A&d I qU TR ST Eeh aum suH fadeyul

w1 T iR g €|
(B) e
e (D) 3= e
Or / 37¥ar

The systematic effort to grant authority at all levels of management and in
all departments is called

(A) delegation (B) decentralization
(C) centralization (D) communication
319/TUS/111A 33 ] e
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HATE Tl 8 99 o i WU W 3R T faumn #§ ARRR Yei T e 8
(A) 3T (B) ferchgientor

(©) e (D) &I 6
11. guides and helps the subordinates to complete the give
properly and as per given schedule. 1
(A) Planning (B) Organizing
(C) Staffing (D) Directing
Frefieei &1 fou U ST Sl HRIHH b IR IS TWE 9 qYesH
H 2l

INIREEISE! (B)
(C) Trgfmertor (D,
Or /
ensures that work is done accoerdi the orders and instructions.
(

(A) Planning Supervision
(C) Leadership Q D) Communication
_ gffvga s 7 6 i et & IgER e S @ R
INIRERIEE (B) wIae
(€) = 4...} (D) o
12. Which of the foll is a factor not affecting dividend decision? 1
(A) Mark itions (B) Liquidity requirement

(C) Fifvanc eeds of the company (D) Tax policy
HIT-G1 A i R gwifad s 9T T ke T8 8¢

i feafa (B) oAl SATawehdl
i foxfla smaveshar (D) & A
The most judicious capital structure of a company is called capital
structure. 1
(A) best (B) optimum
(C) desirable (D) Both (A) and (C)
319/TUS/111A 34 RV

9899436384, 9654-279-279



SOLUTIONS EXCLUSIVELY ON UNNATI EDUCATIONS

Het HI wEd 3fua IS = 6 ISt T hEd &
(A) @ (B) 3TFRH
(©) ife (D) @ (4) @@ (C) 6
14. Need for shelter is which class of need? 1
(A) Physiological needs (B) Social needs o
(C) Ego needs (D) Safety ne \
Tl IR T ThR hH HTETThdl 27
(A) TspaTcmes  3TTegEehdr (B)
(C) 3T8q SATavehdl (ﬂ
i /é
i e of barrier of communication?

Rigidity of rules many results in C
(A) Semantic barriers (B) Psychological barriers
(C) Organizational barri

(D) Personal barriers

i 6 h3RaT fom 61 TINOT T T Fehal B?

(A) WTSTTE STen (B) WIS &

(C) TS S (D) ARETd s
15. Whi ollowing focuses on the traditional concept of marketing? 1

uct (B) Selling
ofits through maximization of (D) Consumers’ needs
sales

frafafed & & #9-w fauom 6t oiofe sEuRm W ad dar 77

(A) 3E (B) fospa

(C) faspa =& wem ¥ sifsaa oy (D) SUARRISAT I TETIHATT
319/TUS/111A 35 ] e
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Or / 3741

One who actually uses the product or service is called

(C) marketeer (D) consumer E

(A) buyer (B) customer

98, S Iqd § 3IC AT HAT B YN HAT 8, hEAl @
(A) haT (B) uEh
(C) Teuurehat (D) ITRHT

16. Collection and analysis of facts relevant to various aspect
called

marketing is

(A) product planning and (B an ization and grading
development Q

(C) market research ding

oo & fafte vedstl & faw @ 92 3R faeeryor sHEamr 8

(A) 3T IeAT 3R fasm (B) TR 3T Suffentor

(C) fomom wiw (D) e
r / Il

The act of designi
product is call

producing appropriate container or cover for the

(A) packaging
(C) bran (D) Both (A) and (C)

e YA AR I Teamgfm 3 WA &1 HE FHaar &
' (B) oiafem

(D) =M (A) =1 (C)

(B) labelling

istributing free gifts of a product is an example of which element of

promotion mix? 1
(A) Advertising (B) Publicity
(C) Personal selling (D) Sales promotion

319/TUS/111A 36 [TV
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fopet 3carg 1 U Huel sieT Yadd iy % foE T+ IgE 27
A) fommm (B) ER
(€) it fasea (D) foma T 6

18. Physical movement of goods from one place to another is call
(A) distribution (B) transportatl

(C) buying (D) Both (A)

wﬁﬁﬁﬁ%wﬁwwﬁ@wq@mm
(A) Terazor
(C) = Al (C)

ém of another country will be
o (B) export
(D) Both (A) and (B) 1

T HI T ST HEATET

Teh YRA HFHT g
(A) I (B) fta

(C) w:frata (D) @i (A) @1 (B)

19. The sale of tea by an Indian compa
called as

(A) import

(C) entrepot

20. importer and exporter in sending and receiving the order or

with other instructions. 1
0 A wd faide = 3= fdsn afga #e 999 v 9g e § 9g[daT d 8l

(A) T< BRE (B) Farfa T8
(C) ME T8 (D) S U

nt Houses (B) Export Houses

mport Houses (D) Shipping Company
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SECTION—B
wus—d

Note : Question Numbers 21 to 35 given below. Internal choices have been glven
wherever necessary :

e . = g @ 21 ¥ 35 U MU & | AEwERdIaR Ak fashed for U E

21. Fill in the blanks :

(a) means external forces, factors and institutions t
the control of the business and they affect the
business enterprise.

ofa

(b) refers to the size, density, distribution owth rate of

population.
& ©F 9T
(%) T 31 I oTE R, i Ue EERT & =1 9 st
2 3N HEEie 3TH I HEIUI! i
(@) __ w1 AN SHEE % AR
Write the full forms of the Q 1x2=2
(@) MNC
(b) C2C
ﬁwﬂﬁﬁﬁrmTqﬁ
(%) o To H
(@) o 2
22. Fill in the : 1x2=2

ns partnership between public sector and private sector in
g, designing and developing infrastructural facilities.

mpany created by a Special Act of the Parliament or State
gislature is called company.

TH 9T

w1 Y 2 foxflm, fooe 0 v snuryg efEn it glaanstt § et &
ws Feit & % o wEen|

(@) THe HAYaT U= faurherr & fomiw srfufem gro nfea et gl sheedt
2l
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Or / 37947
Write the full forms of the following :
(a) SEBI
(p) BHEL

frefafaa &1 g ' e

(%) THo 3o o 330
(@) sflo TIAo o Teo
23. Fill in the blanks : \

(a¢) The primary objective of is settlement
through regular jobs or through self-employ,

1x2=2

eekers either

(b) The placement agencies basically help in info
jobs in sectors.

o W v .

(®F) 1 4 e i ug st
A W USHTR feaTr T 21

e availability of

&% qIEgH ¥ YR <hl aeer § o

(@) wgHe T &1 g & [ <l IUCTedAl o T § HAa HE
BT 2|
24. Fill in the blanks : 1x2=2
(@) _____ are th t common print media for advertisement of job
vacancies.
(b) ____ testVis ducted to test the subject knowledge or general

aptit the "tandidates.
s

(

ugl i fasfua & & forw gdamemo e difen 2l
e fow o FF ki qhien e YeEn h gme et s ude
% forg <ft ST R

l in the blanks : 1x2=2
(a) reduces uncertainty, risk and confusion in operation.

(b) Planning may create a of security among the employees of an
organization in the sense that since the activities will take place as per
plan therefore, there is no need to worry.
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o wWe v .
() fopamepemal # srfAfeeaand, Siftem 3t ymes fafaat =0 st 2 E

(@) Th WS % HEANE H e e & 399 B <Al gl HEAT '
6 ®M AlC AN 5 IER & W 2, A 3% a1 H H R TG0
mal

Or / 37¥ar
State whether the following statements are related to for
organizations : 1x2=2
(a) It is not created by top management.
(b) It is permanent and stable.

3g@ $ifvu 5 fFafafad wum v e g geafd 8
() U Yo I= Y I @ Bl g

(@) 98 el qen for 2l 0
s which all the activities are directed.

26. Fill in the blanks :

(a) are the end re

(b) is a general sta that guides decision making.
fh WM i .
) 7 ek forg aeft wifafafert ot fefma form sman 2

@ 2 o favl @9 @ R st 2l
Or / 37¥ai

following : 1x2=2

ate the first step in the process of organizing.

In which type of organization managers have formal authority?
frfefed @1 I dfT -

(%) TS kAT & YU = H1 IFE hifsw|

(@) forg YR & TMe | YSHhl & UE TS AUBR B 87

319/TUS/111A a0 AT
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27. Fill in the blanks : 1x2=2

(a) is the systematic effort to delegate authority at all levels of the
management and in all departments.

(b) is done to speed up the work and is essential in ev
organization.

&6 M 9T

() &1 AYS 3 HHEg W & 8 e g v & @t @i
# arforepR T grar 21
(@) ﬁwaﬁnﬁa@aﬁ%ﬁ%a@mﬁ!&

Or / HYal

r importance of
1x2=2

State whether the following statements are a f
planning function of management :

(a) Planning is always futuristic.

(b) Planning is a continuous proce

3Ig@ $ifvu fo F=fafaa s Te=
() Traem wfosend g 21
(@) frsH s gdqd ufsean

I faoar s7uar 78d @ -

28. State whether the
India are true ;

ing statements about National Stock Exchange of
1x2=2

(@) One of the o ives of NSEI is to meet International Standards.

(b) NSEI gnized in 1975.

FYT WA b TP Wi TEes & Ged H wdl §
TR Wi =S 1 T Ie¥d SFAUYE AW I QU HET 2
% UEH Wik TaEes & 1975 § @=al WH g o

Or / 37eaT

State whether the following statements are True or False : 1x2=2
(a) SEBI regulates the securities market.
(b) Statutory recognition was granted to SEBI in 1975.

319/TUS/111A 41 IR ce-r.o.

9899436384, 9654-279-279



SOLUTIONS EXCLUSIVELY ON UNNATI EDUCATIONS

3@ Hifve fo Fafafea w7 oft & st wem
(%) Tt yfayfa s o1 FafEa s 2

(@) §st w1 99 1975 T FifalRes A=A Yeq 6l TS 6

29. Fill in the blanks :

: x2=2
(a) that is connecting physical certificates into elec

(b) Services provided by depository are termed as
(%) __ HAuiq Wifas THOE 6 ol ®9

I

(W) FETFR g SeM W TS HEn F
Or /

Give the full forms of the followin ect of working of depository
system : 1x2=2
(a) DRF
(b) DP
g yorelt wE % Hew | * I w9 dfFC
(%) Slo 3o Th ﬂ
(@) o o

30. Fill in ks : 1x2=2

(a

ﬁ?ﬁ@lﬁ‘qﬁq:

mainly used by the banks to meet their temporary
irements of cash.

is the market for short-term funds.

TH 9T
(%) Shi T &I ®U H 3ITeh! Uhg i ITEARM ITMERIRAIS I W A & g
ITANT i ST B
(W) HAHIAT IS HT SR 2|
319/TUS/111A 42 AR
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Or / HYal

Classify the following into various types of money market instruments :  1x
(a) It is a popular instrument for financing working capital requirements

of the company.

(b) These are short-term instruments issued by commercial ba

special financial institutions which are freely transferable
party to another.

freafeRea 1 faftm R % gg1 a9 yuE o affeetor Hifvw
(*)%Waﬁaﬁsﬁa‘ﬁﬁsﬁm%ﬁ?ﬁmw

(@) ¥ ITeushrety yud & fee anforfsaes o aur fafire 35{%%3%
THh U9 H G UG Dl Wad €4 § FEAGid fohn
31. Give one word for the following state O 1x2=2
(a) Giving an attractive name, sy orjidentity mark to the product.

(b) He organises various ma,
product planning, prici

Fafafga weE =1 @ 3=
(%) 3G B Th
@)agﬁﬁqﬁ

ctivities such as market research,
tion, etc.

YT TEA W &l HEA 2l
I 38 SR WY, 3dre fRieH, ger-fufon, faaor anfe

7

32. 1x2=2
e of ointment is __ level of packaging.

are essentially intangible activities which provide want or need
satisfaction.

= ©m viw .
(%) WEH 6 2JF YhowT &1 ®R Bl
(@) Y € I AEE g 7, S STevdehal §q¥ YeH Ll 2l
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33. Fill in the blanks : 1x2=2

(a) External trade is also known as .
(b) is an order placed for import of goods. 6

o wWe i .

(%) 9TEl AR ot a1 SITar 2

(@) | % A % fau feam mm osmew R \o

34. Fill in the blanks :

1x2=2

(a) trade of a country includes servic ved from other

countries or services rendered to othe n

(b) can get immediate payment gth of this letter which

is issued by the importer’s bank, in ur of the exporter.

ﬁ?ﬁ@lﬁ‘qﬁq:

(%) ___ FURH g <M H HET A1 TR gER <ol I HaTd Y| AT
gfrfera 21

@) 3TRATAH b @b I % UF § I R S aten o 7 fes g
s @@= T Fehdl Bl

35. Analyze a nswer : 1x2=2

(@)
import. List the first two steps of this process.
HIfe g Im G
(%) ST& MR H gy ST 39 Ll 87

(@) 31T UikAT § SR % ™IS hl I HeH ISH B &1 3 UlhAT b YW
3 =n A g i)

distance create difficulty in external trade?

importer of goods may have to take many steps in the process of

319/TUS/111A a4 AT
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SECTION—C

Qug—Y4

Note : Question Numbers 36 to 51 given below. Internal choices have been giy 6
wherever necessary :

few . e yw 9@ 36 @ 51 fou MU | stEvIshaER 3Tdies faseq fou T E

36. Why is ‘Password’ necessary in case of on-line shopping? \

- A ok e H S’ F AW a7
37. Give the meaning of ATM. 2
To Fo wo' FT 3% AN v
Or / 374l 0

What is meant by a ‘debit card™
Sfe w1+ w0 o3 77

38. What is meant by ‘public e @
ESIEEIEE A Lo i | D

39. Identify the follow\)ep rtmental Undertakings’” and ‘Government

Companies’ :

(a) Hindusta&ard Ltd.
(b) Post raph

(c)

N

N

thority of India Ltd.

# TgaE fourfia 3uspn’ 3R WeHR FA % 'Y O AN
) Tegmm Rrere foafies

(@) & Td dR

() e

(F) R seara e fafies
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40.

41.

42.

Or / 3741

There are certain limitations that are observed in ‘statutory corporations’.

State any two such limitations.
wifafyes Fml W Fo dEd wRi 13 &1 W Rl @ wimet w1 3gw Hitu) e

“Plans remain mere plans unless they are put into action.” Nam
function of management that puts the plan into action and st

one point of importances. Q
HE H AW ST, S ASHET I TR AT 8 9T 36

2
’ 34
famg =1
3@ i

Or / FHYar
State any two barriers to effective communi n t appear because of
state of mind.
gumor i UH foedl @ wmenst 1 3g@ M o S 399 Bl 2l
What is meant by ‘investment decisi 2
Taw fofa &1 @ a1d 22
Explain the following ge les of management : 3
(a) Division of work
(b) Remuneratio %
Y 6 M AT
(%) HE-

of a diagram, explain the channel of distribution that uses
ices of mercantile agents. 3

TERIAT ¥ i < 39 WIeAY I AHHATEY, ST AR Tsiel hl Ja1aai 1 ST

Or / FHYdr
How do the following factors affect the choice of channel of distribution?
(a) Nature of market

(b) Nature of product

319/TUS/111A a6 AT
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44,

45.

46.

47.

fafafgs wre 8 foawr mem * gaifad @ 82
(%) IR ehid

(@) 3IE THId 6
Briefly explain the following techniques of scientific managemb 3

(@) Time study

(b) Motion study \

I Yoy I ffTRad deRiehl I H&Y § FHART : &

() 99T ALIA v

(@) Wfq A==

State any three functions of a supegtso 3

gt & fhgl @i T BT 3gd
Or / 3Yarl
State any three points o e of leadership.

3g@ HiT|

T & wee F e Qﬁ
Briefly eXplaiﬁ‘: eek redressal’. 3
“Treprra

&9 T 9ISy

Th certain responsibilities of consumers. Briefly explain any two
sul sibilities. 3

% P® IHeIE 81d 8 Wl q Il # a9 § gmensy|
Or / 37¥arl

There are certain malpractices leading to consumer protection. State any
three such malpractices.

T8 $8 IAER & b fou Sudier sewr smawas 81 U8 fhedl @R SR #1 3gE
it
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48.

49,

50.

51.

“Planning is of great importance to management. In spite of this fact, it
suffers from some limitations.” In the light of this statement, explain any

five limitations of planning.
i e % o st mEEt 31 S Aes 9 W R seh g w3 6
FHUT & YHW H e i Al de dimien w augmge) §

ps

TS UTHAT o $ =0T B &l 39 =N HI AR

There are certain objectives that financial planning strives chieve. State
any five such objectives. S
PO W T Bd & e foxflm fRem wm &0 6 | W@ Tl ufer 3eeal

&1 3Ig@ HifTT|

Or / 37¥ar
The process of organizing consists of certain steps. Expla@

Or /

cial planning.

3g@ i)

State any five points of import

i fie & mew & gl

d capital requirements of business. S

TTfrd S 9T hReh GHHTEY|

Explain the factors that
FqEE H AR Gt

actors affecting pricing decisions. S
a1l Tl Pl HET T EHIATSY

Or / 37¥ai

Briefly explai
oo - g

nt by price? Explain any two methods of price fixation.

s 37 qea-fagtor 1 fel @ fafermni 1 wmgmsy

* ok ok
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